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= 2,305,655
s 707,460
& 373,040
o 6,905,645
AL (ST /M6IEE - +=E) 20,228 21,968 AN1,740
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=& Y EUH =J3Y 29 9,400 13,400 A4,000
201 LEr23Ad| 8,080 12,080 24,000
01 AtR22teltl 8,080 12,080 A4,000
201 & 8,080 12,080 24,000
Oger+gH| 5,200
"EURY EHY QT AA}
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-EY QATHAI Alg I 2L
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-otde +EEEHY SHHA =2
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M= P2 200,000 %28 A 400
O=&Hl 2,880
—=degze R FHN S
8,000 x38 10 x 12& 2,880
202 O4H| 1,320 1,320
01 =LHO4 L] 1,320 1,320
20/ & 1,320 1,320
Odtd =2=HZU =HHA 25
60,0002 x2H *x63| 720
ORXIots =2=HFU =HAA 2
60,0002 x2H x53] 600
SAHQASAIE 22l 10,828 8,568 2,260
201 Ler23d| 6,708 4,448 2,260
01 AtR22telt| 5,100 2,840 2,260
20 & 5,100 2,840 2,260
Oget=2H| 2,700
—=&BAL AIZHFED] 2L
150,000& x58F A #23| 1,500
-=HE SZEH FHA
pHZAJ| 300,000&*13] 300
-SEIH? MY BEE @Y
60,0003 *5JHx23] 600
-=dZd EFEHl =cl
pHZAJ| 300,000&*13] 300
O1l=h| 2,400
—SEZXNEES 22X D=l
400,000 x2H *33] 2,400
02 323l 1,608 1,608
20i & 1,608 1,608
03322 £ HAl 1,608




S B
T AP mR(BA/AGAT - F)
ool AEQ ) LR
- rol 1 2 0 -
S - B S(SH) - NISAY - BAS S s HIDS2
-HHEMSE CHAZE S
4202 x60001 *43| 1,008
-SEANCEHS HES PC SRS
50,0002 x12& 600
202 O4H| 4,120 4,120
01 =W 4,120 4,120
20i & 4,120 4,120
O==Z23W&Ed A NEHS
21,600 +2B x5 1001 3 2,160
OFZELTEY A Mt 5834
70,0003 2B +52U*23| 1,400
OHEZEHEEL JaZE 3583
70,0003 2B 22U *23| 560
CHol2el (2 /aio1) 3,132,254 2,215,325 916,929
= 1,621,605
& 193,838
i 1,316,811
K723 2 16,270 25,504 N9,234
J|ZHS AR 16,270 17,304 A1,034
201 Ler23d| 5,640 7,640 A2,000
02 323l 5,640 5,640 0
20l & 5,640 5,640 0
O=z23 2 A 5,640
—SHFSAAL [IQ
25,0002 x2CH* 120 & 600
-SHSAIAE SAR3
210,000 x2CH* 1202 5,040
308 AtXIEHHISO0IA 10,630 5,664 4,966
07 AXIHHMZtRE 3 10,630 5,664 4,966
201 & 10,630 5,664 4,966
O2YHISAIAE X2l
2,170,0002 x2CH*14 4,340
O2YHISAIAE 2F 22|
3, 145,0002 x2CH 14 6,290
tolgae| 3,115,984 2,189,821 926, 163
= 1,621,605
& 193,838
o 1,300,541
ol I LA AIHE 2t 3,480 3,680 A200
201 Let2IH| 1,080 1,280 A200
01 AtR22teltl 1,080 1,280 A200
20l & 1,080 1,280 A200
Oget=ZH| 1,080
-to12E SHEH 22 A 450
-0 =F0| 200,000 *13l 200
A8 FEHD 150,000 *13] 150
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2AM:

SHE

I o122 (=HE/001)
Sl dplegzte| (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
= 247,500
02 QIZENEAIE B X (01 &) 577,500 251,102 326,398
= 330,000
= 247,500
20/ & 577,500 251,102 326,398
= 330,000
= 247,500
ODPF 22 XIJ A 3,300,000 *50CH 165,000
= 82,500
= 82,500
OAEI|H AR WM X JAAS
16,500, 000 *25CH 412,500
= 247,500
= 165,000
230128 JUEX EsKA22AS 5,250 0 5,250
= 2,625
= 2,625
402 QIZ2HR=01H 5,250 0 5,250
= 2,625
= 2,625
02 QIZENEAIE B X (01 &) 5,250 0 5,250
= 2,625
= 2,625
20l & 5,250 0 5,250
= 2,625
= 2,625
OE3J12t INEX dsRAl&|
150, 0003 *35CH 5,250
= 2,625
o 2,625
ZIStE s ESAS 715,000 679,000 36,000
= 340,000
& 75,000
o 300,000
402 QIZ2ERH=01H 715,000 679,000 36,000
= 340,000
& 75,000
= 300,000
02 CIZENEAIE B X (01 &) 715,000 679,000 36,000
= 340,000
& 75,000
= 300,000
20 & 715,000 679,000 36,000
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SR tp|egae] (e &=
SA - B OR(B) - NRAY - BaS S SR RS2
= 340,000
= 75,000
= 300,000
ORIZH MIIXSK S A
14,300,000 *50CH 715,000
= 340,000
& 75,000
= 300,000
QIZEMD XS EZ2AKE (&HI) 4,000 0 4,000
& 4,000
402 QIZ2ERE201 ™ 4,000 0 4,000
== 4,000
02 RIS AIE E X (01 M THE) 4,000 0 4,000
= 4,000
S0 & 4,000 0 4,000
= 4,000
ORIV XIS A ES A (LA AR
DIONEED! 800,000 & *5CH 4,000
== 4,000
oegsd% dX2g 20,969 20,969 0
201 et | 20,969 20,969 0
01 AtR22teltl 20,969 20,969 0
=0 A 20,969 20,969 0
Oget=2H| 20,969
-HIIEsEY WX 4222
8,000,000 x1E*1JH A 8,000
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687,500 x8& 5,500
U012 SHIH SIHIE
7,469,000 14 7,469
s 29 2A2|(Bx) 18,000 18,000 0
& 9,000
= 9,000
402 QIZER201 ™ 18,000 18,000 0
& 9,000
= 9,000
03 QIZHRIELAISHI 18,000 18,000 0
& 9,000
= 9,000
=0 A 18,000 18,000 0
& 9,000
= 9,000
OUILE=FY 2Za2|H]
18,000,000 *1JH A+ 1A 18,000
& 9,000
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= 600
= 400
02 Q2K 2AIL B AR (01X THE) 1,000 3,500 A2,500
= 600
= 400
201 & 1,000 3,500 A2,500
= 600
= 400
OMEE M=A 22 BES2AH (e}
) 100,000 & = 10CH 1,000
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HMII0IEX ES AL 32,000 33,920 21,920
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o 16,000
402 QI2ERH201H 32,000 33,920 21,920
= 16,000
o 16,000
02 DIZENEAIE B X (01 & MHA) 32,000 33,920 21,920
= 16,000
= 16,000
20 & 32,000 33,920 21,920
= 16,000
o 16,000
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= 16,000
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= 360,000
& 45,000
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OtMsE Xlg 4357 S
25,0003 13|« 123 300




S B
Mz XEtd 25 (8d/XH)
Cigl: OMSAZSES (cr9l: &g
SN - O9(BIH) - NIRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
OOtME= (24, 28] 20128 S
20,0002 %30 600
OMHEZ2 TIoH GIEAIE XIRAI(EX) 24,400 24,400 0
= 12,200
= 12,200
402 QIZHRFE0| A 24,400 24,400 0
= 12,200
= 12,200
02 CI2EXIE AN E X (0| M RHS) 24,400 24,400 0
= 12,200
= 12,200
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= 6,755
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= 6,755
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= 9,650
o= 2,895
= 6,755
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al) 19,300,000 19,300
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& 2,895
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= 11,250
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= 11,250
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& 3,750
= 11,250
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= 5,408
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& 1,803
= 5,408
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& 1,803
= 5,408
OOtMEs2EEH ~g8Ez X
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2A: 2#F
M HOIE 22(E/HIIS)
©r HDol22te (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
20l & 22,000 0 22,000
Oget=gH| 22,000
-SZHEY ZcltiE AXIN
500,000 * 104 5,000
-MHEE2E =2ls=HE 300,000 1074 3,000
-HEZ2S =g 200,000 =104 2,000
HAMKIE X HOlLEE
100,000 *10JH 1,000
-0LO| A ZHD1 & 500, 0002 *574 2,500
MERE 22140 12
5,0002 =1,0004 5,000
-NEEZE 882 AP 7Y
50,0002 704 3,500
401 AlEHIL 0] 10,000 30,000 220,000
01 Al&HI 10,000 30,000 A20,000
=0 A 10,000 30,000 220,000
QugM D] tiEHE EXIALE
5,000,000 *x2I4 A 10,000
S0 EX IR AL 1,414,920 1,592,895 ANAT77,975
sy 707,460
& 141,492
= 565,968
402 QIZ2HR=01H 1,414,920 0 1,414,920
iy 707,460
= 141,492
o 565,968
03 QIZHRIEFAIS LI 1,414,920 0 1,414,920
s 707,460
& 141,492
o 565,968
S04 & 1,414,920 0 1,414,920
= 707,460
& 141,492
= 565,968
OZdI0IEX™ 2] KI&AAS 1,414,920
-8 ZdIOIE Xel 3,520,000& *226= 795,520
= 397,760
& 79,552
= 318,208
-HI=& &dI0IE HMel
5,400,000& *x74= 399,600
= 199,800
& 39,960
= 159,840
-8 XIS 6,280,0002 *355 219,800
= 109,900




S B
Mz HDIS Zel(SF/HII2)
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= 21,980
= 87,920
SHOIE™ S KA (XHAI) 490 0 490
201 LBt AY| 490 0 490
01 AF22telb] 490 0 490
=0 A 490 0 490
(@3- E= 490
—%ZIJS\_I% el S=EAIE X d8AR3] 310
MEQRH 120,000& x2H x13| 240
Ao 70,000& x 1 x13] 70
-SdI0IE X2l A SF/ARS
ST AMAL 60,0003 x2H x 13| 120
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wsSHl £ Al 30,000 x2H x13] 60
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= 28,650
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= 28,650
=0 A 95,500 110,400 A 14,900
= 66,850
= 28,650
OBt - ot MHID| =H 218
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= 41,860
= 17,940
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= 40,600
= 17,400
=0 A 58,000 72,000 A 14,000
= 40,600
= 17,400
OgBt4Z2H| 58,000
-MYDl £HEFR S 2L
1,400,000& *524 7,000
= 4,900
= 2,100
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= 1,260
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O2223 & HAl 1,800
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= 1,260
= 540
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= 490
= 210
01 ZLHOH] 700 1,714 21,014
= 490
= 210
=0 A 700 1,714 21,014
== 490
= 210
Odta - o7 M0 22l
20,0003 x 15 +35! 700
= 490
= 210
Z=sHHIE SSEoHE EXAY 50,000 50,000 0
= 15,000
= 7,000
= 28,000
401 AIEHIL 0L 50,000 50,000 0
= 15,000
& 7,000
= 28,000
01 A&t 50,000 50,000 0
= 15,000
& 7,000
= 28,000
S0j &t 50,000 50,000 0
= 15,000
& 7,000
o 28,000
Og=sHHlY 2s&06HE &X
5,000,000 * 100K 2~ 50,000
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SN BHD
Mz HO|2 2= (SZ/HIIZ2)
o9l 2EH (S5l &2
bou 11 o Of Ak ~
SA - B . O(3) - MSAY - Ba2 (g%%‘) 5(3@‘% D=2
—ZEEHA F=E(ORE )
500, OOO 2«3 A x 128 18,000
-2E53I&A SHAASH|
50,0002 %420l A +33] 6,300
—-HOIBtE=HElAlE LHER A OHLY
6202« 15001 12& 1,116
O2&| 2,830
-SS3EA 22 =M s
8,000& *3Hx 10« 12& 2,830
2 2=2249H| 101,880 90,720 11,160
=0 A 101,880 90,720 11,160
O22e=2 % HA 29,640
-SSHA B =HE
200, 000! #42JH A %23 16,800
-SSEA M|, =& 22
70,000 x 130 A+ 12& 10,920
-2 A HiMY SAe2
5,000 %320l A% 128 1,920
OA&EEH|SX Y| 72,240
253 A AEE2 SAl2
1,300,000 *4201 2~ 54,600
—D=5I & Al HlAE Q2
35,0002 x420 A+ 12& 17,640
202 04| 4,720 4,720
01 Z2LHNH Y| 4720 4,720
S0 A 4,720 4720
OZ2=3HaAl 22| A A
20,0002 x2H x253| 1,000
OJNeleteEXelAlE 3 NE 3
20,0002 x2H x453| 1,800
O2ZX & EHE W =2 st&a A
20,000 x23 x482! 1,920
206 24| 4. 800 4 800
01 M=t 4,800 4 800
=0 A 4 800 4 800
OZ2Z3HaA fE2eX =8
300,000~ 16 4 800
401 Al&EH|L 200 10,000 80,000 270,000
01 Al&H] 10,000 79,280 A69,280
S0 A 10,000 79,280 269,280
OZ2ESH&A! ot CCTV 2
2,000,000 & *5H &~ 10,000
=2EFZ 260,805 233,690 27,115
101 @1244| 123,565 108,090 15,475
M4 JI2HH22XSE 123,565 108,090 15,475
20| A 123,565 108,090 15,475
O=Ed&d &4 J|stt 29
1,960,000 2 « 128 47,040
O=2EFAH EY J|Stt §12=2
1,960, 60 2% % 13| 3,922




SN ST
M HOIE 22(E/HIIS)
Ciel: 2EH (9l 2
) _ oM e, hoH -
S - B S9(3H) - NSAY - BES S s HDS2
OstEM YD =018t 29
1,960,960 2«53 19,610
O=H S HAI2A HAzel o=
5,500,000 *53] 27,500
OoMegE sUitYe &2 29
980,500 x»2H x12& 23,532
Oz sUotY 22kt 23
980,500 *2H *13] 1,91
201 LEt23d| 62,640 51,400 11,240
01 AtS2teltl 28,400 20,000 8,400
S0j &t 28,400 20,000 8,400
Oget=ZH| 20,000
—ot&E MY D] /IEH Y]
400,000 *50& 20,000
(@ yal p=aea] 8,400
-SEYHEY R013/ )| 2A2|S |
350,000 *200 A+ 12& 8,400
02 2323l 34,240 31,400 2,840
20i & 34,240 31,400 2,840
O=3=a ¥ HAl 34,240
-Mg Dl 2SI B©HEZ 0TV Stz
50,0003 #3501 A+ 12& 21,000
-MYD| EEEI| CCTV &I122
20,0003 #3504 A+ 12 8,400
-SEHEY 013D I3
40,0003 =20 A 12 9%60
-STHEY R013)| SARZ
20,0002 #2JH A% 12 480
-HOI2 HERES(otEMHDIXMe)
10&+100,000kg 1,000
-138183, MEE M U2 €3
1,200,000 28] 2,400
202 O4H| 3,000 3,000
01 =LH4b] 3,000 3,000
S0 &t 3,000 3,000
OMD| 28D &=
20,0002 x2H *753| 3,000
301 et Z 1,600 1,200 400
14 J|Et2 &3 1,600 1,200 400
20 & 1,600 1,200 400
OMYD| SEHEI| MNEAZ
160, 0002 *30%*2524 1,200
O&dIs #M=0o 4,000,000& *10% 400
401 AlEBIZL 2CHYI 70,000 70,000
01 Al&H| 70,000 70,000
20| A 70,000 70,000
OgX(Z2) HEO0IE fAE M
1,000,000 *50& 50,000
OoMdD|l 28EI| &5 OV &Xl
5,000,000 *4CH 20,000




S B
M SAANE 2H(SH/HDIIS)
ool 2EQX) LR
. - pou 12 o 0 AboY -
A - FH - RI(SIH) - NIRAR - BaS (%'%OH) Emﬂ,f) BlRE2
SEANE 2Y(EE/HDIZ2) 4,494,424 2,695,315 1,799,109
= 538,000
o= 6,000
= 3,950,424
SHEAAE 2te 3,651,508 1,942,405 1,709,103
= 532,000
o 3,119,508
SEESHEE2Y 1,592,624 1,651,689 A59,065
201 LE2AH| 510,026 461,791 48,235
01 At 22| 340,080 301,501 38,579
=0 A 340,080 301,501 38,579
Ogut2H| 326,080
- &&= 2B A
1,210,000 *x83] 9,680
-OHE & B KIS, KIGtEE =E2ZAHED])
1,500,000& *x33] 4,500
-Hg®d =5 5 ¢ 90, 000& x50l *23] 900
ABAIE BEEUAAN 228
5,000,000& *13] 5,000
AN REISTA S22
5,000,000& *13] 5,000
-A2ZAE 29 BLIH(BSH])
2,000,000&*123] 24,000
SAAIE BE TMS BRAGH 43
1,700,000& 121 = 20,400
“ABAE ODISY KDIEE (asas
180,000,000 x 14! 180,000
AN DOISAEE (jsasa
6,000,000&x13] 6,000
-AZPAIE 22 HI|IAA
2,300,000&x13] 2,300
-A2FAIE HIAH /1€ 2l
600,000 *50= 30,000
-SHEAESMIH 29 228 2|
1,600,000& 1001 = 16,000
HIS R U BEAN £42
1,500,000 *13] 1,500
—A2FAIE CHOIBHSOEA IR (a) Il 24 A
4,000,000 *23] 8,000
—SHAESIAE W AFRA(THD1A) 2
1,000,000& x43| 4,000
HRAIE ALERR EIIRAL 442
7,000,000&x13] 7,000
-OtME 24 TH=4H| 450,000& *4E 1,800
O%IEW=H| 8,000
-5tZ0I3td oM 2e| /S n=
2,000,000 x43| 8,000
O3 | 6,000
—ME MY T A
8,000& x10Y 75 6,000




2A: 2#F
M. SEANE 2H(BHE/HDIZ)
o SEAE 22| (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
02 S=23| 169,946 160,290 9,656
=0 A 169,946 160,290 9,656
02322 % HAl 126,956
-SEHSIHEH MolrER22
3,500,000& 1290 & 42,000
-SHE S SAEEHI
38,000+ 12013 456
“HOIBHERY S (A
10&+5,000,000kg 50,000
“HOI2HERY2(0HE)
15&+2,100,000kg 31,500
-UIIBEAIE JI2RE3
3,000,000&*13] 3,000
Od=H| 11,660
-AZAE A= 2,000% *4,0502| & 8,100
~SEFSHEH =2t22D((U
56,0002 * 104 560
283 o4 e A=Zd|
2,000&*1502| E4*103] 3,000
OAEEHIS XY 30,000
&, 88, A2E AlE |AH]
10,000, 0003 *301 2~ 30,000
oLzl 1,330
-2Z30I3 IaZE, S22 HgES
38,0002 x35H 1,330
203 SR F=&| 6,500 6,500
03 Al FRIHRFAIY| 6,500 6,500
=0 A 6,500 6,500
Osdd¥st S8 =& 6,500,000 6,500
206 M=l 104,350 104,350
01 =4l 104,350 104,350
=0 A 104,350 104,350
OsZ3 & stdlye €A 60,0002 +250S 15,000
OEE A= 30,0002 8004 24,000
OLZANE 2F%3 27,000
- 2tH| 3,500& *2,000kg 7,000
Qa4 500& *40,0002| & 20,000
OLZANE 23MME 38,350
-HAEIS 1,500& *5,000kg 7,500
-Tela, Y 53,0003 *50S 2,650
-HEIE EE 57,0002 10074 5,700
-shot ball 2,000 %6,000kg 12,000
- E 3,500 *3,000kg 10,500
207 AW 20,000 20,000
01 HAREHH| 20,000 20,000
S0i & 20,000 20,000




2A: 2#F
M. SEANE 2H(BHE/HDIZ)
crel: BAAlY 22 (el me
S - B S9(3H) - NSAY - BES S SR HDS2
OtZ sl A2AIE RAE2I| &
&3 ZY 20,000,000 18] 20,000
301 Let8dZ 33,600 32,400 1,200
14 JIEI2 &3 33,600 32,400 1,200
S0 &t 33,600 32,400 1,200
O3 T etdly =CIZAl
1,400,000 2« 1204 & 33,600
307 QIZt0| A 788,148 788,148
05 RIZteIErE 788,148 788,148
20 & 788,148 788,148
OAa2Ald fIE29H|
788,148,000« 14 788,148
401 AIEHIL 20| 130,000 258,500 A 128,500
01 A&t 130,000 253,500 A128,500
=0 A 130,000 258,500 A128,500
OAZAIE HUE XD 6 E WXl
15,000,000& *14] 15,000
OS] MZZA 25,000,000 =14 25,000
OEAIE B (EE4-, Xot=, HiKM=)
mbyx| 1,000,000 *10CH 10,000
Ot ZHSNEH RANES4 (02 &, A2E
HEE S) 80,000,000 *14 80,000
MNESESES HE X 22 9,600 9,600 0
101 l24d| 2,800 2,800 0
M IR 22 sE 2,800 2,800 0
=0i & 2,800 2,800 0
OAIZEZ X 22l
70,0003 +22 *10H *23] 2,800
201 et23AY| 6,800 6,800
01 AtS2teltl 6,800 6,800
=0 A 6,800 6,800
Oget=2| 6,800
-MNESZUEE F=H Kot ZA
1,700,000 *43] 6,800
SHEESIHIE AZAIE AXIAS 1,507,000 0 1,507,000
= 452,000
= 1,055,000
401 AIEHIZLS0IYI 1,507,000 0 1,507,000
= 452,000
o 1,055,000
01 Al&H| 1,507,000 0 1,507,000
= 452,000
= 1,055,000
201 & 1,507,000 0 1,507,000
= 452,000
o 1,055,000




A SE
M SIAANAL 2 (sHH/HDIS8)
crel: BAAlY 22 (el me
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
OstABASIHE AZAIE EXAIS
1,507,000,000& *1JH A~ 1,507,000
= 452,000
= 1,055,000
&g JE2d 29 275,584 281,116 5,532
101 el24H| 265,084 272,516 NNT,432
M4 JI2ZtH2EHsEE S 265,084 272,516 NT,432
=0 A 265,084 272,516 AT ,432
OMegs2elng 29 2124Hl S 265,084
-Jl2= 78,8303 10 x262 206,666
-5, 2= 78,830& x 10 x5 41,018
424 1,500,000& * 10 15,000
e ey 20,000& 10 = 1201 & 2,400
201 LEt2AH| 5,500 3,600 1,900
01 AF22t2lt] 4,800 3,600 1,200
=20 Al 4,800 3,600 1,200
Ogbt4=24| 4,800
MY 22X OHE AR RelH| (&
0tA3 ) 40 2 x10H*123] 4,800
02 22244 700 700
=0 A 700 700
Ool2H| 700
S8R JI2HH 22 IHAE e E s
35,0002 x20H 700
206 =4I 5,000 5,000
01 MZ bl 5,000 5,000
=20 A 5,000 5,000
QHJIE2 £&&E (0t )
2,500,000 *23| 5,000
METIRISAlE AX| 266,700 0 266,700
= 80,000
= 186,700
401 Al&EHIL 20| 266,700 0 266,700
= 80,000
= 186,700
01 Al&HI 266,700 0 266,700
= 80,000
= 186,700
=0 A 266,700 0 266,700
= 80,000
= 186,700
OME TG =AIE X JIE8 L AAl
Y 249 266,700,000& 14! 266,700
= 80,000
= 186,700




S B
M SAAM 2 (SH/HIIS)
chel: Hawmpl LR
S - EHY - BR(31) - NSAY - BaS S SR b=
A2 842,916 752,910 90,006
= 6,000
& 6,000
= 830,916
SEHHIE XMelArd 30,000 30,000 0
= 6,000
= 6,000
= 18,000
301 Let8dZ 30,000 30,000 0
= 6,000
& 6,000
= 18,000
14 J|Et2 &2 30,000 30,000 0
= 6,000
& 6,000
= 18,000
S0 &t 30,000 30,000 0
= 6,000
= 6,000
= 18,000
Og=sHblY =243
100,000& *300E 30,000
= 6,000
= 6,000
= 18,000
M Il S 69,525 36,275 33,250
201 et H| 1,200 1,200 0
01 At222teltl 1,200 1,200 0
=0 A 1,200 1,200 0
Oglet=2H| 1,200
-HEHDIE =5 H2E3S M&
1202 *10,0000H 1,200
206 M ZH| 68,325 35,075 33,250
01 M=l 68,325 35,075 33,250
=0 A 68,325 35,075 33,250
OMYDIZSHH =5 ME 68,325
504 125 %340, 0000H 42,500
204 602 *310,0000H 18,600
-104¢ 402 %150, 0000H 6,000
51 35&+35,0000H 1,225
HA0eE SMSE]| 114,406 80,760 33,646
101 Q14| 79,606 49,240 30,366
M JI2tH22HsSE 79,606 49,240 30,366




S B
M SAAM 2 (SH/HIIS)
o Al (Gt &
S - EHY - BR(31) - NSAY - BaS S SR b=
S0 & 79,606 49,240 30,366
O2tZ0It& Al o1 olAHHl S 48,240
== 85,000 x22 %2002 34,000
=5, g 85,0003 x2H x52! 8,840
A 28 2,500,000& 2 5,000
TRty 20,000& x2H 1001 = 400
OFAX 2HA 21AHH| 31,366
-Jl==2 78,880 *1H*300 23,664
=5, g 78,8803 *1H 52! 4,102
428 300,0002 121201 & 3,600
201 LEt23d| 30,800 27,520 3,280
01 At=222teltl 30,800 27,520 3,280
S0j &t 30,800 27,520 3,280
O1l=| 30,800
R EIEERECE 400,00021 3524 14,000
~F, A3 S 494 I
40,0003 *36H = 1201 & 16,800
303 EAS 4,000 4,000
01 ZA&= 4,000 4,000
=0 A 4,000 4,000
O A0 ARIX] AE 4,000,000 *14] 4,000
HAFH 22l 190,080 241,680 51,600
201 Et2AH| 166,080 217,680 A51,600
01 AtR2teldl 2,880 2,880 0
S0 & 2,830 2,830 0
o=l 2,880
“HAUR = S
8,000& x3 10 » 12& 2,830
02 2323l 163,200 214,800 51,600
S0 &t 163,200 214,800 251,600
(@)K=3s] 120,000
“HAXY & ST 7F/U
1,500 *8,0002| E{x10& 120,000
OXtgF - Hdetd| 43,200
~-HAXEY, ST FAH ¥ ARE
150,000 = 120H* 122 21,600
AKX AR 50,0003 *12CH*12& 7,200
AKX, S&H B0l Xl
300,000& *4IH*12CH 14,400
202 04| 24,000 24,000
01 =LH4b] 24,000 24,000
S0 &t 24,000 24,000
OFLYR F& 2L
10,0002 * 10 =20 = 1201 & 24,000
SAE2RF HIIZ2 H™el 269,405 195,445 73,960
202 04| 5,280 4,320 %0




S B
M SIAANAL 2 (sHH/HDIS8)
chel: Hawmpl LR
SN - O9(BIH) - NIRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
01 2yl 5,280 4,320 960
S0 A 5,280 4,320 960
OS8AZ28HJI2 XMl
10,0002 *x223| x 128 x2H 5,280
206 M=H| 3,125 2,625 500
01 =] 3,125 2,625 500
S0 A 3,125 2,625 500
SENENCTPIE-EESIIEE
65,00021%250} 1,625
OSASMEUI| 2)448 HABE HX
50&*30, 00071 1,500
307 2120l ™ 261,000 188,500 72,500
05 DIZIREZ 261,000 188,500 72,500
=0 A 261,000 188,500 72,500
OSAIZMY D] /=X eld]
145,000 *1,800& 261,000
HAES P2 2,750 2,000 750
206 M=H| 2,750 2,000 750
01 MZ Bl 2,750 2,000 750
=01 A 2,750 2,000 750
O&td0|et HAZRE RUEINR S) 2,750
0|22 &2 400& *5,0000H 2,000
-SIXE, ME| 15,0002 *50SET 750
QEHDIIS el 166,750 166,750 0
201 B2 AY| 166,750 166,750 0
01 AtR2teld| 160,000 160,000 0
=01 A 160,000 160,000 0
Ogbt4=2H| 160,000
~XIHDIS SRz 400,002 100 40,000
A UIEHIIZE |EHe
400,000 *x200= 80,000
-HagsHII= |IEXell
400,000/ x100& 40,000
2 3524l 6,750 6,750
=20 A 6,750 6,750
03322 % HAl 6,750
-HJ |2 HEEEYS 15& *450,000kg 6,750
HMSAAH|(=Z W) (DIEHDIE 33,440 0 33,440
Jl23d|(s2 ) 33,440 0 33,440
Jl2dd|(sd22l) 21,600 0 21,600
201 LBt AY| 15,830 0 15,880
01 AF222telb] 15,880 0 15,880
SHSOIA 15,830 0 15,880
202 04| 2,400 0 2,400
01 =Wyl 2,400 0 2,400




SN SR

Ha: S| (8121 (OIEHIIED
ol D=2 (s &
S - B S9(3H) - NSAY - BES S SR b=

| =00 2,400 0 2,400
203 RF=&d| 3,320 0 3,320
M EASIHRFA 3,320 0 3,320
SH=SO0IM 3,320 0 3,320
J2d3u(8 83X %) 3,480 0 3,480
201 LEt23d| 1,680 0 1,680
01 AtS2teltl 1,680 0 1,680
SHSO0IM 1,680 0 1,680
202 O4H| 1,800 0 1,800
01 =LHOH] 1,800 0 1,800
SH=O0IA 1,800 0 1,800
SEETIEEEED 3,480 0 3,480
201 Ler23d| 1,680 0 1,680
01 At22teltl 1,680 0 1,680
SH=SO0IA 1,680 0 1,680
202 O4H| 1,800 0 1,800
01 =LH4b] 1,800 0 1,800
SHSO0IAM 1,800 0 1,800
Jl2ddl(s3Ald) 4,880 0 4,880
201 LEt2AH| 1,680 0 1,680
01 AtR22teltl 1,680 0 1,680
SH=O0IA 1,680 0 1,680
202 04| 3,200 0 3,200
01 2] 3,200 0 3,200
SH=SO0IA 3,200 0 3,200
MLES(2H ) (EE/HDI2) 40,000 40,000 0
LHENHHKIZ 40,000 40,000 0
ISHES 40,000 40,000 0
m®IIsNEZ 40,000 40,000 0
01 JI2&E&E2 40,000 40,000 0
204 & 40,000 40,000 0

O 3} B & X 8 X & 5501 K| 20|

=2 d&3 40,000,000 40,000




